EARAROBEEIERT — 2 N— IBISH —F

20174118250 (+) SE=#7H

Gl Y >%3m Lt 50078 T [EE] &2

EEE R

[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 37 :1,900,000

/4 3% 11,100,000 M

/53 750,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S S 3 | EPR 1:24.8 1-1 37.2] 96.7 | 1 494 | BETF (ER)
11l *MYavdFoF 54.0 = +2) HAATIE
R:AAaggLvy Bix4yavtlex BB
S 43 | EE 1:25.2 7-7 36.8| 93.1 | 7 498 | =EFRAN (3EX)
2 12| /Ab—H ¥¢55.0 2 1/2) (12) | BBREH LY
R RT—IVEY BANLANyY hO—T J—HrIr—L
. _ 4 o4 | BEES 1:25.4 16-15 [35.9| 91.3 | 3 500 | RiEMBK (ER)
3 5 X 57.0 (1 1/4) (+8) ﬁﬂ”%‘:%ﬂ‘*)b?—‘;{ LTZ(#%)
Lig4X b Biax/w—AAK BRES  fi2AER
SV > 3 | BEHFE 1:25.4 13-11 36.4| 91.3 | 6 162 | mEEWE (ER)
s 37V /%27 [B] ~° 1 5.0 5= +4) A
Lixinqa— B:o) /=4 Ak —8l
S # 3 | BAR 1:25.5 3-4 37.5|90.2 | 10 | 542 |ARFE (E®)
IR EEE RN 56.0 (3/4) o) | A
AL ALYy BiTSyITTS HET7— L
= R 3 | @Kth— 1:25.7 9-8 36. . 4 472 | AEHN (BR)
6 7 Sk B 2 il ) 7 H 5%?0 (1) 9|85 +12) EBE%%’/)L7
L:ZFAd=IK B:TF/T7-0 J—HrTp—L
N N FEHE :25. - . . KiIRE#BZ (FR)
75l 9| 7vhUTY 3 = 1(7251:>7 1-11 | 36.7| 88.5| 8 &2) N
RHT—N—F BiYvITrA8— L85
o . o4 | FIEHEZ 1:25.7 6-5 37.5| 8.4 | 5 504 | EHEES (RR)
8 6| 2H/E-—H> 57.0 ) 42) | \ARE
R:7A7% B:ZXg-U—-~Tj> Aft FEI
2 RS B4 | BBR 1:25.8 3-3 37.9| 87.0 | 11 | 474 |MOEHZ (RR)
gl g | SAAY A 754.0 (172) (o) | RAER
L:ZZXHwR B:TA5471— 772 RE
= . 3 | JIIEREHE 1:26.0 2-2 38.2| 853 | 2 472 | EHEF (ER)
108 15| 7% >~ ] 56.0 (1 1/4) © |TEER—LF T2 (1)
R:Tapizar B TN—F SR F vy a— FUAL T — L
p 5, 4t 4 | BIUGAF 1:26.1 14-15 | 36.8| 84.8 | 15 | 480 |XMFHEA (B®)
1M1l1172>7V77€l 57.0 (3/8) () | W) 75T
LI ATA—h— B:O0-Y—3IXb [ A=bie]
= 7 =80 4 3 | HHEEH 1:26. 10-9 37.4| 83.8 | 14 468 | IHEE (EBR)
EHH AF=0714 7> 56.0 s s AR
Z:d—IR7Y2—Jb B:ZXF—sk0q> IINRIIS
3 LS # o4 | BREN 1:26.4 14-13 | 37.1]82.0 | 9 488 | BEFIR (]R)
13/5/10| ®> =2V %> Tk 57.0 412 Lo |HAmR
LR UIYRIZX B:vauyyiib EVFAT =L
¢ s 4 | dtRR— 1:26.8 1-13 | 37.8| 78.5 | 13 | 464 |MNEEEE— (W)
EE 4 @~ a—)u 55.0 2 1/2) 6) PEEFE 1
LNNVT S BACRATHOX 7995 T7T— L4
— a3 4t 4 | B 1:27.2 5-5 39.0 | 75.4 | 12 472 | RBIERE (ER)
15/8(16| 7 1 TL/ YT [B] 57.0 21/2) oy | TEER
R:TT9 R4 F BiAEY-—ATOZ— [ akie
N RPN B 4 | BBRE 1:28.7 7-9 40.2 | 64.4 | 16 | 444 | REETT (RR)
16/ 7|13 ®F / >R > 7c54.0 ©) () | W) £/ 902
g/ >vviTrqa BH/ R Ta-0 =Eiie]
@ 71 L
) 49.4-37.2
NA>ZA L | 12.5-11.2-11.7-12.2-11.9-12.3-13.0
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= 2,15(8,14)16,6(13,12)7,11(4,9)3(1,10)5
43—7F— |2,15,8,14(6,16)12,7(11,13) (3,9) (4,10) (1,5)
[ N3
BB 2 260M 714K 2-12 670M e E 1-6 1,760M JEHE 2-5-12 3,110/
8 B 2 120 2-5 320M B = 2-12 1,810 B 2-12-5 14,530M
12 270M 5-12 1,130 B HE 2-12 2,760/
5 1804

ABICOVWTRDTEEERROODE. TR LIV,




